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(a) n2 (b) 2n2

(c) 3n (d)  2n

(a) ikuh dk teuk (b) Hkkstu dk ikpu
(c) Hkkstu idkuk (d) mijksä esa ls ,d ls vf/kd

(a) ihyh /kkrq
(b) dkyh /kkrq
(c) lQsn /kkrq
(d) yky /kkrq

(a) cSaxuh vkSj ukjaxh (b) uhyk vkSj yky
(c) uhyk vkSj ihyk (d) ihyk vkSj cSaxuh

(a) le; vof/k vk/kh gks tkrh gS
(b) le; vof/k nksxquh gks tkrh gS
(c) le; vof/k leku jgsxh
(d) mijksä esa ls dksbZ ugha

(a) ghjs ls dkap esa (b) ty ls dkap esa
(c) ok;q ls ty eas (d) ok;q ls dkap esa

(a) 1@2 lsdaM (b) 1@5 lsdaM
(c) 1@10 lsdaM (d) 1@20 lsdaM

(a) 2350 C mol–1 (b) 5322 C mol–1

(c) 96500 C mol–1 (d) 6029 C mol–1

1- vHkzd fo|qr dk lqpkyd gS
2- vHkzd Å"ek dk lqpkyd gSA

(a) dsoy 1 (b) dsoy 2
(c) 1 vkSj 2 nksuksa (d) mijksä esa ls dksbZ ugha

(a) ydM+h (b) lHkh oLrq,a ,d lkFk igqpsaxh
(c) yksgk (d) ekse

1. The maximum number of electrons to be accommodated in a

shell depends on the formula-

(a) n2 (b) 2n2

(c) 3n (d)  2n

2. Which of the following is/are chemical changes?

(a) Freezing of water (b) Digestion of food

(c) Cooking of food (d) More than one of the above

3. Palladium is known as–

(a) Yellow metal (b)  Black metal

(c) White metal (d) Red metal

4. Which of the following types of light are strongly absorbed

by plants?

(a) Violet and orange (b) Blue and Red

(c) Blue and Yellow (d) Yellow and Violet

5. A boy is swinging on a swing if another boy of same mass sits

along with him without disturbing the motion how will the

time period change?

(a) Time period becomes half

(b) Time period becomes twice

(c) Time period will remain same

(d) None of above

6. Total internal reflection occurs when light goes through-

(a) Diamond to glass (b) Water to glass

(c) Air to water (d) Air to glass

7. How much time is required to differentiate between two

sounds while listening to each sound?

(a) 1/2 second (b) 1/5 second

(c) 1/10 second (d) 1/20 second

8. The value of Faraday constant is approx. ?

(a) 2350 C mol–1 (b) 5322 C mol–1

(c) 96500 C mol–1 (d) 6029 C mol–1

9. Mica is used in the Iron for pressing clothes. In this connec-

tion which of the following two statements is/are correct?

1. Mica is a good conductor of electricity

2. Mica is a good conductor of heat.

Choose the correct code:

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) None of above

10. If a piece of wax, iron and wood is dropped from the same

height on the earth, which will be reach the earth first?

(a) Wood

(b) All three object will reach at same time

(c) Iron

(d) Wax
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(a) rkieku c<+rk gS
(b) rjax dh vko`fÙk c<+ tkrh gS
(c) ueh de gks tkrh gS
(d) rkieku de gks tkrk gS

(a) 40 ls 140 fMxzh QkWjsugkbV
(b) 0 ls 40 fMxzh QkWjsugkbV
(c) 140 ls 270 fMxzh QkWjsugkbV
(d) 0 ls 40 fMxzh QkWjsugkbV

(a) c<+ tkrk gSA (b) de gks tkrk gSA
(c) leku jgrk gSA (d) rhoz xfr ls c<+rk gSA

1- rkieku c<+us ij pkyd dk çfrjksèk Hkh c<+ tkrk gSA
2- rkieku c<+us ij vèkZpkyd dk çfrjksèk de gks tkrk gSA

(a) dsoy 1 (b) dsoy 2
(c) 1 vkSj 2 nksuksa (d) mijksä esa ls dksÃ ugÈ

(a) xzsxj tksgku esaMy (b) V‚el gaV e‚xZu
(c) ckjcjk eSÇDyV‚d (d) o‚Vlu vkSj fØd

(a) vkWDlhtu] QkLQksjl] lYQj
(b) dkcZu] gkbMªkstu] iksVSf'k;e
(c) vkWDlhtu] dSfY'k;e] lksfM;e
(d) dkcZu] gkbMªkstu] dSfY'k;e

(a) mikfLFk (b) VsaMu
(c) olk (Adipose) Ård (d) ,fjvksyj Ård

(a)  flfydkWu MkbvkWDlkbM (b)  ,Y;wehfu;e vkWDlkbM
(c) dSfY'k;e vkWDlkbM (d)  mijksDr esa ,d ls vf/kd

(a) lksfM;e ySEi (b) izfrnhIr ySEi
(c) ejdjh ySEi (d) buesa esa ls dksbZ ugha
CH

3
COOH  

(a) vkWDtsfyd vEy (b) ,lhfVd vEy
(c) lkbfVªd vEy (d) QkWfeZd vEy

(a) gkbiksFkSysel ls (b) fiVîwVjh xzafFk ls
(c) Fkk;jkbM ls (d) mijksä esa ls ,d ls vfèkd

11. Speed of sound increases when
(a) Temperature increases
(b) Frequency of wave increases
(c) Moisture decreases
(d) Temperature decreases

12. The highest risk of bacteria growth in food items is at the
temprature level ?
(a) 40 to 140 degrees Fahrenheit
(b) 0 to 40 degrees Fahrenheit
(c) 140 to 270 degrees Fahrenheit
(d) 0 to 40 degrees Fahrenheit

13. Generally, by adding impurities to ice, its melting point .
(a) Increases
(b) Decreases
(c) The condition remains the same.
(d) Grows at a rapid pace.

14. Consider the following statement
1. When temperature increases resistance of conductor

also increases.
2. When temperature increases resistance of semi-

conductor decreases.
Which of the above statements is/are correct
(a) 1 only (b) 2 only
(c) Both 1 and 2 (d) None of above

15. Who delivered the principle of 'jumping genes'?
(a) Gregor Johann Mendel (b) Tomas Hunt Morgan
(c) Barbara McClintock (d) Watson and Crick

16. Basic chemicals (proteins, vitamins and hormones etc.) are
made up of which basic element?
(a) Oxygen, phosphorus, sulfur
(b) Carbon, Hydrogen, Potassium
(c) Oxygen, calcium, sodium
(d) Carbon, Hydrogen, Calcium

17. Which of the following connects muscles to bones in human
being?
(a) Cartilage (b) Tendon
(c) Adipose tissues (d) Areolar tissues

18. Fly ash consists of –
(a) Silicon dioxide (b) Aluminum oxide
(c) Calcium oxide (d) More than one of the above

19. Which lamp is used for illumination similar to sunlight?
(a) Sodium lamp (b) Fluorescent lamp
(c) Mercury lamp (d) None of these

20. CH
3
COOH   is called ?

(a) Oxalic acid (b) Acetic acid
(c) Citric acid (d) Formic acid

21. The deficiency of Growth hormones which leads to Dwarf-
ism in children is secreted by:-
(a) Hypothalamus
(b) Pituitary gland
(c) Thyroid
(d) More than one of the above
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(a) ySfDVd ,flM dk lap; (b) vkWDlhtu vkiwfrZ esa deh
(c) Xywdkst dk vo{k; (d) vkWDlhtu vkiwfrZ esa c<+ksrjh

(a) ikuh dks vo'kksf"kr djuk
(b) Hkkstu dk HkaMkj.k
(c) ikSèkksa dh laiw.kZ lajpuk ds fy, leFkZu
(d) xSlh; fofue;

(a) vkWDlhtu dh izfØ;k dks c<+krh gSA
(b) vkWDlhtu dh izfØ;k dks de djrh gSA
(c) vkWDlhtu ls vf/kd fØ;k'khy gksrh gSA
(d) vkWDlhtu fØ;k dks fLFkj djrh gSA

1-  WBC çfrj{kk çnku djrk gSA
2-  WBC Fkkbel xzafFk esa ifjiDo gksrh gS

(a) dsoy 1 (b) dsoy 2
(c) 1 vkSj 2 nksuksa (d) u rks 1 vkSj u gh 2

(a) cM+h vkar (b) NksVh vkar
(c) vek'k; (d) ;d̀r

(a) dSYlhQsj‚y foVkfeu D
(b) QkbyksfDouksu foVkfeu K
(c) ikbfjMksfDlu foVkfeu B

5

(d) jkbcks¶ysfou foVkfeu B
2

1- ;wdsfj;ksfVd dksf'kdk esa] dksf'kdk foHkktu ckbujh fo[kaMu ;k
uoksfnr çfØ;k ds ekè;e ls gksrk gS] tcfd çksdSfj;ksfVd
dksf'kdk esa] dksf'kdk foHkktu lelw=h foHkktu ;k vèkZlw=h
foHkktu ds ekè;e ls gksrk gSA

2- uhyk gjk 'kSoky vkSj ekbdksIykTek vkfne dksf'kdkvksa ds
çdkj gSa ftuesa okLrfod dsaæd dk vHkko gksrk gSA

(a) dsoy 1 (b) dsoy 2
(c) 1 vkSj 2 nksuksa (d) 1 vkSj 2 nksuksa ugÈ

(a) dksdks (b) vaxwj
(c) cksxsufofy;k (d) mijksä esa ls ,d ls vfèkd

(a) xaèkd   (b) ukbVªkstu (c) vkxZu     (d) ¶yksjhu

(a) vuqPNsn 243(A) (b) vuqPNsn 243(F)
(c) vuqPNsn 243(I) (d) vuqPNsn 243(J)

(a) nycny fojksèkh dkuwu (b) f'k{kk dk vfèkdkj
(c) thou dk vfèkdkj (d) Hkkstu dk vfèkdkj

22. The reason for feeling tired after hard physical work is-
(a) Accumulation of lactic acid
(b) Decrease in oxygen supply
(c) Glucose depletion
(d) Increase in oxygen supply

23. Which of the following  is not the function of roots?
(a) Absorbing water
(b) Food storage
(c) Support for the entire structure of plants
(d) Gaseous exchange

24. Why is nitrogen gas filled in plastic bags of chips?
(a) Increases the process of oxygenation.
(b) Reduces the process of oxygenation.
(c) It is more reactive than bound oxygen.
(d) Oxygen stabilizes the action.

25. Consider the following statements–
1. WBC Provide Immunity
2. WBC get mature in Thymus Gland
Select the correct statement:
(a) Only 1 (b) Only 2
(c) Both 1 and 2 (d) Neither 1 nor 2

26. Where does the absorption of digested substances mainly
take place in the human body?
(a) Large intestine (b) Small intestine
(c) Stomach (d) Liver

27 Which one pair is not correctly matched?
(a) Calciferol Vitamin D
(b) Phylloquinone Vitamin K
(c) Pyridoxine Vitamin B

5

(d) Riboflavin Vitamin B
2

28. Consider the following Statements
1. In the Eukaryotic Cell ,Cell  Division occurs through the

Binary Fission or budding Process ,while in the Prokaryotic
Cell ,Cell Division occurs through Mitosis or meiosis

2. Blue green alage  and Mycoplasma are types of
Primitive cells lacking a true nucleus.
Which of the above statements is /are correct ?

(a) Only 1 (b) Only 2
(c) Both 1 and 2 (d) Neither 1 and 2

29. Which plants are propagated by stem cutting?
(a) Cocoa (b) Grapes
(c) Bougainvillea (d) More than one of the above

30. Characteristic pungent smell of onion and garlic is due to
presence of which of the following elements?
(a) Sulphur (b) Nitrogen
(c) Argon (d) Fluorine

31. The Finance Commission is concerned with reviewing the
financial position of the Panchayats.
(a) Article 243 A (b) Article 243 F
(b) Article 243  I (d) Article 243 J

32. 86th Constitutional Amendment Act related to?
(a) Anti-defection Law (b) Right to Education

(c) Right to Life (d) Right to Food
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33. Bihar Municipal Act was enacted in-

(a) 2005 (b) 2006

(c) 2007 (d) 2009

34. The nomination of Rajya Sabha members by the President

has been borrowed from the Constitution of-

(a) Ireland (b) Japan

(c) South Africa (d) Australia

35. For the first time, bicameralism was created in the

legislature?

(a) 1909 (b) 1919

(c) 1935 (d) 1947

36. A Legislative Council is dissolved:-

(a) When the Chief Minister dies.

(c) On the orders of the chairman of the legislative council.

(c) On the Governor's discretion

(d) None of the above

37. How many seats will be reserved for women in the Lok Sabha

after the Nari Shakti Vandan Act is passed?

(a) 181 (b) 160

(c) 150 (d) 180

38. Identify the false statement regarding the Vice President

(a) He is the Chairman of the Rajya Sabha.

(b) He is a member of the Rajya Sabha.

(c) He is elected by both the members of the Parliament.

(d) More than one of the above

39. India, that is Bharat, shall be a Union of States is realted to

which article?

(a) Article 2

(b) Article 3

(c) Article 1

(d) More than one of the above

40. How is the Panchayat Chairman elected at the district level?

(a) Is nominated by the Governor

(b) Indirectly by the elected members.

(c) Directly by the concerned public

(d) None of the above

41. What was the total expenditure of Bihar state government in

2021-22  according to Bihar economic survey 2022-23?

(a) 1.93 lakh crore (b) 2.09 lakh crore

(c) 2.43 lakh crore (d) 3.01 lakh crore

42. Which region is the hub of glass industry in Bihar?

(a) Bhagalpur (b) Patna

(c) Darbhanga (d) More than one of the above

43. According to National Family Survey-5, what percentage of

men are literate in the state of Bihar?

(a) 64 percent (b) 70 percent

(c) 76 percent (d) 80 percent

(a) 2005 (b) 2006
(c) 2007 (d) 2009

(a) vk;jySaM (b) tkiku
(c) nf{k.k vÝhdk (d) v‚LVªsfy;k

(a) 1909 (b) 1919
(c) 1935 (d) 1947

(a) tc eq[;ea=h dh e`R;q gks tkrh gSA
(a) foèkku ifj"kn ds lHkkifr ds vkns'k ijA
(c) jkT;iky ds foosd ij
(d) buesa ls dksbZ ugha

(a) 181 (b) 160
(c) 150 (d) 180

(a) jkT; lHkk dk lHkkifr gksrk gSA
(b) jkT; lHkk dk lnL; gksrk gSA
(c) mldk fuokZpu laln ds nksuksa lnL;ksaa }kjk gksrk gSA
(d) mijksä esa ls ,d ls vfèkd

(a) vuqPNsn 2
(b) vuqPNsn 3
(c) vuqPNsn 1
(d) mijksä esa ls ,d ls vfèkd

(a) jkT;iky }kjk euksuhr gksrk gS
(b) fuokZfpr lnL;ksa }kjk vizR;{k :i ls
(c) turk }kjk izR;{k :i ls
(d) mijksDr esa ls dksbZ ugha

(a) 1-93 yk[k djksM+ (b) 2-09 yk[k djksM+
(c) 2-43 yk[k djksM+ (d) 3-01 yk[k djksM+

(a) Hkkxyiqj (b) iVuk
(c) njHkaxk (d) mijksä esa ls ,d ls vfèkd

(a) 64 izfr'kr
(b) 70 izfr'kr
(c) 76 izfr'kr
(d) 80 izfr'kr
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44. According to Bihar Economic Survey (2022-23), what is the

share of primary sector in the Gross State Domestic Product

of Bihar in 2020-21?

(a) 21.2 percent (b) 43.3 percent

(c) 64.9 percent (d) 50.09 percent

45. Nagoya Protocol is related to-

(a) Climate Change (b) Biological Diversity

(c) Desertification (d) Ozone Layer

46. Where was Asia's first Export Processing Zone (EPZ).

established?

(a) Kandla, Gujarat (b) Amaravati, Andhra

(c) Chennai, Tamil Nadu (d) Chandigarh, Punjab.

47. Agricultural Produce Marketing Committees (APMC) in

India comes under?

(a) Central Government

(b) State Government

(c) Independent body

(d) None of the above

48. The false statement regarding Competition Commission of

India-

(a) Is a statutory body

(b) Is formed in 2000

(c) It is a Quasi -judicial body

(d) There is a Chairman and six members.

49. Who has been appointed as the Brand Ambassador of National

Institute of Disaster Management ?

(a) Maithali Thakur (b) Manoj Bajpai

(c) Ravi Kisan (d) Sachin Tendulkar

50. Which of the following district have maximum multi-

dimensonal poor ?

(a) Araria (b) Supaul

(c) Purnea (d) Katihar

51. What position did India hold among the remittance receiving

countries in the year 2022?

(a) First (b) Second

(c) Fourth (d) Third

52. In which year was the ‘National Planning Committee’ formed?

(a) 1938 (b) 1942

(c) 1951 (d) 1955

53. New Series of Wage Rate Index has been launched

by______with base year_____.

(a) NSO, 2016 (b) Labor Bureau, 2016

(c) NSO, 2019 (d) Labor Bureau, 2019

54. Punrasar Park in Purnea is related to which of the following ?

(a) Silk Park (b) Jute Park

(c) Biodiversity Park (d) Public Park

(a) 21-2 izfr'kr (b) 43-3 izfr'kr
(c) 64-9 izfr'kr (d) 50-09 izfr'kr

(a) tyok;q ifjorZu ls (b) tSfod fofoèkrk ls
(c) e#LFkyhdj.k ls (d) vkstksu ijr ls

(Export Process-

ing Zone- EPZ) 

(a) dkaMyk] xqqtjkr (b) vejkorh] vka/kz izns'k
(c) psUubZ] rfeyukMq (d) paMhx<+] iatkc

(APMC) 

(a) dsUnz ljdkj ds rgr (b) jkT; ljdkj ds rgr
(c) Lora= fudk; ds rgr (d) mijksDr esa dksbZ ugha

(a) ,d lafof/kd fudk; gSA
(b) xBu 2000 esa
(c) v)Z U;kf;d fudk; gSA
(d) ,d v/;{k] Ng lnL; gksrs gS

(a) eSFkyh Bkdqj (b) eukst cktis;h
(c) jfo fd'ku (d) lfpu rsanqydj

(a) vjfj;k (b) lqikSy
(c) iwÆ.k;k (d) dfVgkj

(a) igys (b) nwljs
(c) pkSFks (d) rhljs

(a) 1938 (b) 1942
(c) 1951 (d) 1955

(a) ,u,lvks] 2016 (b) Je C;wjks] 2016
(c) ,u,lvks] 2019 (d) Je C;wjks] 2019

(a) flYd ikdZ (b) twV ikdZ
(c) tSo fofoèkrk ikdZ (d) lkoZtfud ikdZ
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55. Which district of Bihar has the highest productivity of wheat?
(a) Begusarai (b) west champaran
(c) Purnea (d) Patna

56. When was the Dandi March started?
(a) 6 April 1929 (b) 6 April 1930
(c) 12 March 1930 (d) 12 March 1931

57.  In which session was it decided to celebrate Independence
Day on 26 January?
(a) Lahore session, 1929
(b) Calcutta session, 1928.
(c) Ramgarh convention 1940
(d) None of the above

58. Who was not an ally of Mahatma Gandhi in the Khilafat
movement?
(a) Shaukat Ali (b) Hasrat Mohani
(c) Mohammad Ali Jinnah (d) Abul Kalam Azad

59. ‘Swaraj within a year’ is related to which movement?
(a) Non-cooperation movement
(b) Civil disobedience movement
(c) Quit India Movement
(d) None of the above

60. In which year was the ‘Independence for India League’
formed?
(a) 1928 (b) 1932 (c) 1934 (d) 1935

61. Which of the following revolutionary was hanged in
Faizabad?
(a) Ashfaqullah Khan (b) Roshan Singh
(c) Rajendra Lahiri (d) Udham Singh

62. Who founded the Indian Society of Oriental Art?
(a) Subhash Chandra Bose (b) Jawahar Lal Nehru.
(c) Abanindranath (d) Gandhiji

63. Which among the foreign visitors talked about Nalanda and
its neighbour during 7th century ?
(a) Megasthenes (b) Fa-Hien
(c) Hiuen Tsang (d) I-tsing

64. Which of the following has recently been included in the
UNESCO World Heritage List?
(a) Shantiniketan (b) Hoysala Temple
(c) Ayodhya Ram Temple (d) More than one of the above

65. Who was appointed as Subedar of Bihar under Jahangir?
(a) Raja Man Singh (b) Khan-e-Durram
(c) Dawood Khan (d) Lal beg

66. In which language was ‘Jana-Gana-Mana’ originally
composed?
(a) Hindi (b) Bengali
(c) Sanskrit (d) Urdu

67. What was/were the reason for the construction of Golghar
in Patna?
(a) For tackling famines
(b) For making an extra administrative units.

(c) For storing food

(d) More than one of the above.

(a) csxqljk; (b) if'peh paikj.k
(c) iwÆ.k;k (d) iVuk

(a) 6] vizSy 1929 (b) 6 vizSy 1930
(c) 12 ekpZ 1930 (d) 12 ekPkZ 1931

(a) ykgkSj vf/kos'ku] 1929 (b) dydRkk vf/kos'ku 1928
(c) jkex<+ vf/kos'ku 1940 (d) mijksDr esa dksbZ ugha

(a) 'kkSdr vyh (b) gljr eksgkuh
(c) eksgEen vyh ftUuk (d) vcqy dyke vktkn

(a) vlg;ksx vkanksyu (b) lfou; voKk vkanksyu
(c) Hkkjr NksM+ks vkanksyu (d) mijksDr esa dksbZ ugha

(a) 1928 (b) 1932
(c) 1934 (d) 1935

(a) v'kQkdmYykg [kka (b) jks'ku flag
(c) jktsanz ykfgM+h (d) m/ke flag

(a) lqHkk"k pUnz cksl (b) tokgj yky usg:
(c) vouhaæukFk (d) xka/kh th

(a) esxLFkuht (b) Qkáku
(c) ºosu Rlkax (d) bÇRlx

(a) 'kkafr fudsru (b) gks;ly eafnj
(c) v;ksè;k jke eafnj (d) mijksDr eas ,d ls vf/kd

(a) jktk eku Çlg (b) [kku&,&nqjZe
(c) nkÅn [kku (d) yky csx

(a) fganh (b) ckaXyk
(c) laLd̀r (d) ÅnwZ

(a) vdky ls fuiVus ds fy,
(b) vfrfjä ç'kklfud bdkb;k¡ cukus ds fy,A
(c) Hkkstu HkaMkj.k ds fy,
(d) mijksä esa ls ,d ls vfèkdA
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68. Which of the following was/were not the Leader(s) of Santhal
Rebllion of 1855-1856?
(a) Siddhu (b) Surma
(c) Kanhu (d) Chand

69. Who wrote 'Discovery of India'?
(a) Rajendra Prasad (b) B. N Rau
(c) Jawahar Lal Nehru (d) Gandhiji

70. Where was the first conference of the Congress Socialist
Party held in 1934?
(a) Patna (b) Allahabad
(c) Calcutta (d) Madras

71. Who defeated Humayun in the battle of Chausa?
(a) Sher Shah (d) Mohammad Shah
(c) Mirza Kamran (d) Akbar

72. Who introduced gold coins first?
(a) Kujul Kadphises (b) Vim Kadphises
(c) Harmvij (d) None of the above

73. Who was the first Chief Minister of Bihar state?
(a) Mohammad Yunus (b) Deepnarayan Singh
(c) Maurice Garnier Hallet (d) None of these

74. The book written by Jaiprakash is:
(a) Towards struggle (b) Bharat Bharati
(c) Bharat Durdasha (d) More than one of the above

75. What was the capital of Bihar during the Tughlaq period?
(a) Patna (b) Magadha
(c) Rajgir (d) Bihar Sharif

76. In which river region was the first evidence of humans found
in India?
(a) Ganga (b) Brahmaputra
(c) Narmada (d) Godavari

77. The word ‘Nishaka’ was used in ancient India.
(a) Night guard (b) Gold jewellery.
(c) Copper coins (d) None of these

78. According to the copper plates of Nalanda and Gaya, who
assumed the title of 'Param Bhagwat'?
(a) Shri Gupta (b) Samudra Gupta
(c) Shivgupta (d) Mahipal

79. Kandariya Mahadev Temple is the supreme example of-
(a) Mamal style (b) Chandela style
(c) Maurya style (d) Gupta style

80. Arrange the following names in chronological order
1. Taimur 2. Mahmud Ghaznavi
3. Genghis Khan 4. Mohammad Ghori
Choose the correct code:
(a) 1, 2, 3, 4 (b) 4, 3, 2, 1
(c) 2, 4, 3, 1 (d) 2, 3, 4, 1

81. Whom did Iltutmish defeat near Teliagarhi?
(a) Aivaz (b) Malik Jani
(c) Nasiruddin Mahmood (d) Alimardan

82. Who among the following held the title of “Shadow of
God”
(a) Iltutmish (b) Balban
(c) Alauddin (d) None of the above

(a) fl)w (b) lwjek
(c) dkUgw (d) pk¡n

(a) jktsUnz izlkn (b) ch- ,u jko
(c) tokgj yky usg: (d) xka/kh th

(a) iVuk (b) bykgkckn
(c) dydRrk (d) enzkl

(a) 'ksj'kkg (b) eksgEen 'kkg
(c) fetkZ dkejku (d) vdcj

(a) dqtqy dMfQlsl (b) foe dMfQlsl
(c) geZoht (d) mijksDr esa dksbZ ugha

(a) eksgEen ;quql (b) nhiukjk;.k flag
(c) ekSfjl xkfuZ;j gSysV (d) buesa ls dksbZ ugha

(a) la?k"kZ dh vksj (b) Hkkjr Hkkjrh
(c) Hkkjr nwnZ'kk (d) mijksDr esa ,d ls vf/kd

(a) iVuk (b) ex/k
(c) jktfxjh (d) fcgkj 'kjhQ

(a) xaxk (b) czãiq=
(c) ueZnk (d) xksnkojh

(a) jkf= j{kd (b) Lo.kZ vkHkw"k.k
(c) rkacs ds flDds (d) buesa ls dksbZ ugha

(a) Jh xqIr (b) leqnzxqIr
(c) f'koxqIr (d) efgiky

(a) ekey 'kSyh (b) pansy LFkkiR;
(c) ekS;Z dyk (d) xqIr dyk

1- rSewj   2- egewn xtuoh    3- paxst [kka    4- eksgEen xkSjh

(a) 1] 2] 3] 4 (b) 4] 3] 2] 1
(c) 2] 4] 3] 1 (d) 2] 3] 4] 1

(a) ,sokt (b) efyd tkuh
(c) ukfl:Ìhu egewn (d) vyhenkZu

(a) bYrqrfe'k (b) cycu
(c) vykmÌhu (d) mijksDr esa dksbZ ugha
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83. On which river bank was the Vijayanagara Empire
established?
(a) Tungabhadra (b) Godavari
(c) Vaigai (d) None of the above

84. Who among the following was the Commissioner of Patna
Division at the time of the Revolt of 1857?
(a) Sir John Lawrence (b) W. Tailor
(c) Clive (d) Munro

85. In the year 1869, a new Society called Anjuman Tahzib came
into existence at:
(a) Muzaffarpur (b) Sitamarhi
(c) Gaya (d) Bhagalpur

86. Who among the following did burn the police station during
Quit India movement in Bihar?
(a) Kulahaud Chaudhary (b) Shyan Bihar Lal
(c) Jaglal Chaudhary (d) Jai Prakash Singh

87. Under the Permanent Settlement System, what part of the
rent did the land owner keep with himself?
(a) 1/11 (b) 10/11
(c) 5/11 (d) 1/20

88. 'Hunkar' was a hindi weekly published by-
(a) Mazharool Haque and Brajkishore Prasad
(b) Pandit Yamuna Karjee and Rahul Sankritayan
(c) Dhamidhar Prasad and Mazhrool Haque
(d) Rajendra Prasad and Mazharool Haque

89. Arrange the following events in chronological order and
choose the correct code-
1. Revolt in Rohini 2.  Danapur Rebellion
3. Uprising led by Pir Ali 4.  Leadership of Kunwar Singh
Codes :-
(a) 4,3,1,2 (b) 1,2,3,4 (c) 1,3,2,4 (d) 3,1,2,4

90. The idea of Constituent Assembly for the first time was put
forward in _____ by _____.
(a) 1924, M.N. Roy (b) 1929, J.L. Nehru
(c) 1934, M.N. Roy (d) 1935, J.L. Nehru

91. According to the Economic Survey  2022-23, which of the
following districts has the highest per capita income?
(a) Munger (b) Begusarai
(c) Sitamarhi (d) Purnea

92. Which among the following Islands is largest in terms of
area?
(a) New Zealand (b) Great Britain
(c) Sumatra (d) Java

93. Which of the following statements is/are NOT correct?
(a) The Shivalik Mountain has hogback structure.
(b) Ramnagar Doon is located at western ghat.
(c) The Northern Part of Bihar bordering with Nepal has

Terai belt.
(d) The height of the Haraha valley is higher than the alluvial

plain of the Ganges.

(a) rqaxHknzk (b) xksnkojh
(c) oSxbZ (d) mijksDr esa dksbZ ugha

(a)  lj tkSu ykWjsUl (b)  MCY;w- Vsyj
(c) Dykbo (d)  equjks

(a) eqt¶Qjiqj (b) lhrke<+h
(c) x;k (d) Hkkxyiqj

(a) dqykgkSn pkSèkjh (b) ';ku fcgkj yky
(c) txyky pkSèkjh (d) t; çdk'k Çlg

(a) 1@11 (b) 10@11
(c) 5@11 (d) 1@20

(a) etg:y gd vkSj cztfd'kksj çlkn
(b) iafMr ;equk dkjth vkSj jkgqy lka—R;k;u
(c) èkehèkj çlkn vkSj et+g:y gd
(d) jktsaæ çlkn vkSj et+g:y gd

1- jksfg.kh esa foæksg 2- nkukiqj foæksg
3- ihj vyh ds usr`Ro esa foæksg 4- dq¡oj Çlg dk usrR̀o

(a) 4]3]1]2 (b) 1]2]3]4
(c) 1]3]2]4 (d) 3]1]2]4

(a) ,e-,u- jkW;] 1924 (b) tokgjyky usg:] 1929
(c) ,e-,u- jkW;] 1934 (d) tokgjyky usg:] 1935

(a) eqqaxsj (b) csxqljk;
(c) lhrke<+h (d) iwf.kZ;k

(a) U;wthySaM (b) xzsV fczVsu
(c) lqek=k (d) tkok

(a) f'kokfyd ioZr esa g‚xcSd lajpuk gSA
(b) jkeuxj nwu if'pe ?kkV esa fLFkr gSA
(c) fcgkj dk mÙkjh Hkkx usiky dh lhek ls yxk gqvk rjkÃ csYV gSA
(d) gjgk ?kkVh dh ÅapkÃ xaxk ds tyks<+ eSnku ls vfèkd gSA
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94. “Chaur” or “Man” in the context of Bihar state means –
(a) Gold coin of Gupta
(b) Submerged land area
(c) Chairman of the secret department
(d) Vegitation

95. Identify the correct statements among the following with
reference to Bihar
1. Kharagpur hills belong to the Vindhyan range.
2. Punpun river enters Aurangabad district of Bihar.
3. Morhar is a tributary of Punpun.
Select the correct code :
(a) Only 1 (c) Only 2, 3
(c) 1, 2, 3 (d) Only 1, 3

96. A Hot spring name 'Gaumukh Kund', located in which district
of Bihar?
(a) Nawada (b) Gaya
(c) Rajgir (d) Munger

97. Tatil system is related to-
(a) Irrigation (b) Trade
(c) Fish Farming (d) Painting

98. According to 2011 census, choose the correct one in
decreasing order of population density of the districts of
Bihar.
(a) Sheohar > Patna > Darbhanga > Vaishali
(b) Sheohar>Darbhanga > Patna > Vaishali
(c) Patna > Sheohar> Darbhanga > Vaishali
(d) Vaishali > Patna >Sheohar> Darbhanga

99. By whom was the first sugar factory started in Bihar?
(a) British (b) French
(c) Dutch (d) Portuguese

100. Under normal conditions, the temperature usually decreases
with an increase in altitude in the troposphere at a rate of 1
degree for every 165 metres. This is called
(a) Normal lapse rate (b) Temperature inversion
(c) Radiation Inversion (d) Subsidence Inversion

101. Which of the following is/are Conditions Favourable for
Tropical Cyclone Formation?
(a) Large sea surface with temperature higher than 27° C,
(b) Presence of the Coriolis force enough to create a

cyclonic vortex,
(c) Small variations in the vertical wind speed,
(d) More than one of the above

102. Consider the following statements :-
1. Colorado plateau is called the roof of the world.
2. Chhotanagpur Plateau is an example of triangular

plateau.
3. The average elevation of the Tibtan Plateau is about

5Km above sea level.
Choose the correct statements :-
(a) 1 only (b) 2 only
(c) 3 only (d) All of the above

(a) xqIr dh Lo.kZ eqnzk (b) tyeXu Hkwfe {ks=
(c) xqIr foHkkx dk v/;{k (d) ouLifr

1- [kM+xiqj igkfM+;k foa/;u Øe dh gSA
2- iquiqu unh vkSjaxkckn ftys fcgkj esa izos'k djrh gSA
3- eksjgj] iquiqu dh lgk;d unh gSA

(a) dsoy 1 (b) dsoy 2] 3
(c) 1] 2] 3 (d) dsoy 1] 3

(a) uoknk (b) x;k
(c) jktxhj (d) eqaxsj

(a) flapkbZ ls (b) O;kikj ls
(c) eNyh ikyu ls (d) isafVax ls

(a) f'kogj > iVuk > njHkaxk > oS'kkyh
(b) f'kogj > njHkaxk > iVuk > oS'kkyh
(c) iVuk > f'kogj > njHkaxk > oS'kkyh
(d) oS'kkyh > iVuk > f'kogj > njHkaxk

(a) fczfV'k (b) Ýkalhlh
(c) Mp (d) iqrZxkyh

(a) ukeZy ySIl jsV (b) rkieku O;qRØe.k
(c) fofdj.k O;qRØe.k (d) voryu O;qRØe.k

(a) 27 fMxzh lsfYl;l ls vfèkd rkieku okyh cM+h leqæh lrg]
(b) pØokrh Hkaoj cukus ds fy, i;kZIr dksfjvksfyl cy dh mifLFkfr]
(c) ÅèokZèkj gok dh xfr esa NksVs cnyko]
(d) mijksä esa ls ,d ls vfèkd

1- dksyksjkMks iBkj dks foÜo dh Nr dgk tkrk gSA
2- NksVkukxiqj iBkj f=dks.kh; iBkj dk mnkgj.k gSA
3- frCcr ds iBkj dh leqæ ry ls vkSlr Å¡pkÃ yxHkx 5 fdeh gSA

(a) dsoy 1 (b) dsoy 2
(c) dsoy 3 (d) mijksä lHkh
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103. How many women MLAs are there in the present Bihar
Assembly?
(a) 20 (b) 28
(c) 27 (d) 32

104. Yashobhoomi Convention Center has been constructed in?
(a) Mumbai (b) New Delhi
(c) Patna (d) Lucknow

105. Which of the following scholars hypothesized the origin of
the Earth from the tidal hypothesis?
(a) O. Schmid (b) F. hoyal
(c) James Jeans (d) H. Alfvén

106. Arrange the following continents in decreasing order of their
area:
1. Africa    2.   South America  3.  Antarctica 4.  Europe
Choose the correct code:
(a) 1, 2, 3, 4    (b)  1, 2, 4, 3   (c) 3, 1, 2, 4     (d) 4, 2, 3, 1

107. The cabinet of which state recently approved pension and
OBC status for the transgender community?
(a) Bihar (b) Jharkhand
(c) Uttar Pradesh (d) Maharashtra

108. The reason for leftward deviation of wind in the Southern
Hemisphere is-
(a) Coriolis force (b) Magnetic field
(c) Temperature (d) Pressure

109. Spartley Island, located in South china sea is politically
disputed among which countries-
(a) China, Vietnam, Philippines
(b) Japan, China, South Korea
(c) North Korea, Russia and China
(d) Indonesia, China and Brunei

110. Which river has been described below:
1. Its ancient Greek name is Zaradros.
2. It rises on the north slope of the Himalayas in Lake La Nga.
3. Its water was a source of dispute between India and

Pakistan until 1960, when the countries concluded a
Treaty, which allocated it to India in exchange for
exclusive Pakistani rights to the Indus.

Choose from the following:
(a) Jhelum river (b) Zanskar river
(c) Bhaga river (d) Sutlej river

111.  Mercalli scale is used for-
(a) Humidity (b) Earthquake
(c) Sea distance (d) Quality of mercury

112. Kosi Safari was started in State of Bihar by which department?
(a) Bihar environment and forest department
(b) Bihar Tourism Department
(c) Bihar Agriculture department
(d) None of the above

(a) 20 (b) 28
(c) 27 (d) 32

(a) eqEcbZ (b) ubZ fnYyh
(c) iVuk (d) y[kuÅ

(a) vks- f'eM (b) ,Q- gks;y
(c) tsEl thUl (d) ,p- vkYQkosu

1- vÝhdk 2- nf{k.k vesfjdk
3- vaVkdZfVdk 4- ;wjksi

(a) 1] 2] 3] 4 (b) 1] 2] 4] 3
(c) 3] 1] 2] 4 (d) 4] 2] 3] 1

(a) fcgkj (b) >kj[k.M
(c) mÙkj çns'k (d) egkjk"Vª

(a) dksfjvksfyl cy (b) pqacdh; {ks=
(c) rkieku (d) nkc

(a) phu] fo;ruke] fQyhiÈl
(b) tkiku] phu] nf{k.k dksfj;k
(c) mÙkj dksfj;k] :l vkSj phu
(d) baMksusf'k;k] phu vkSj czqusÃ

1- bldk çkphu ;wukuh uke t+jkMªksl gSA
2- ;g fgeky; ds mÙkjh <yku ij yk uxk >hy ls

fudyrh gSA
3- bldk ikuh 1960 rd Hkkjr vkSj ikfdLrku ds chp fookn dk

,d lzksr Fkk] tc ns'kksa us ,d lafèk ij gLrk{kj fd,] ftlus
Çlèkq ij fo'ks"k ikfdLrkuh vfèkdkjksa ds cnys esa bls Hkkjr dks
vkoafVr fd;kA

(a) >sye unh (b) t+kaLdj unh
(c) Hkkxk unh (d) lryt unh

(a) vknZzrk (b) HkwdEi
(c) leqnzh nwjh (d) ejdjh dh xq.kork

(a) fcgkj i;kZoj.k vkSj ou foHkkx (b) fcgkj i;ZVu foHkkx
(c) fcgkj —f"k foHkkx (d) mijksä esa ls dksÃ ugÈ
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113. This National Park is located within the Lahaul and Spiti
district of Himachal Pradesh. the Park forms a natural
habitat for a number of endangered animals such as snow
leopard and Siberian ibex, haral, red fox etc It is also famous
for its Chhumurti horses.
Which of the following National Parks is best described above:
(a) Pin Valley National Park
(b) Great Himalayan National Park
(c) Jim Corbett National Park
(d) Simbal Bara National Park

114. The world's highest fighter airfield will be set up in which
country?
(a) India (b) China (c) Russia (d) Japan

115. Consider the following about India - Middle East - Europe
Economic Corridor (IMEC) -
I. It was launched at the G-20 Summit in New Delhi.
II. It is exclusively a Sea Route trading agreement.
III. It is jointly spearheaded by India and USA.
Select the Correct Statements
(a) I and II only (b) I and III only
(c) I only (d) III only

116. Who has been elected as the third Vice President of the
Meteorological Organization (WMO)?
(a) Daouda Konate (b) Eoin Moran
(c) Dr Mrutyunjay Mohapatra (d) Gerhard Adrian

117. Bharat Drone Shakti 2023 will be hosted by which air base?
(a) Vadsar (b) Hindon
(c) Palam (d) Bagdogra

118. Who is the President of the 78th UN General Assembly?
(a) Dennis Francis (b) Csaba Korosi
(c) Abdulla Sahid (d) Antonio Guterres

119. Dag Hammarskjold medal is associated with which of the
following?
(a) Wildlife conservation (b) Nuclear disarmament
(c) Literature (d) Peacekeeping mission

120. Which of the following has Developed the Nabhmitra Device
for the safety of fishermen?
(a) National Fisheries Development Board
(b) Fishery Survey of India
(c) Coastal Aquaculture Authority
(d) ISRO

121. Which fintech company has launched its own stock broking
platform named Share(dot)Market?
(a) BharatPe (b) Razorpay
(c) PhonePe (d) CRED

122. Recently Uttar Pradesh has launched an initiative called
"Pahal". It is associated with which of the following?
(a) Food Subsidy
(b) Universal Basic Income
(c) Health infrastructure
(d) Online rural education program

(a) fiu oSyh us'kuy ikdZ (b) xzsV fgeky;u us'kuy ikdZ
(c) fte d‚csZV us'kuy ikdZ (d) flEcy ckjk jk"Vªh; m|ku

(a) Hkkjr (b) phu
(c) :l (d) tkiku

I. bls ubZ fnYyh esa th&20 f'k[kj lEesyu esa y‚Up fd;k x;k FkkA
II. ;g fo'ks"k :i ls ,d leqæh ekxZ O;kikj le>kSrk gSA
III.  bldk usr`Ro Hkkjr vkSj vesfjdk la;qä :i ls dj jgs gSaA

(a) dsoy I vkSj II (b) dsoy I  vkSj III
(c) dsoy I (d) dsoy III

(WMO) 

(a) nkmnk dksukVs (b) b;ksu eksju
(c) M‚ e`R;qat; egkik= (d) xsjgkMZ ,fMª;u

(a) oMlj (b) fgaMu
(c) ikye (d) ckxMksxjk

(a) Msful Ýkafll (b) lhlkck dksjkslh
(c) vCnqYyk lkfgn (d) ,aVksfu;ks xqVsjsl

(a) oU;tho laj{k.k (b) ijek.kq fujL=hdj.k
(c) lkfgR; (d) 'kkafr LFkkiuk fe'ku

(a) jk"Vªh; eRL; fodkl cksMZ (b) Hkkjrh; eRL; losZ{k.k
(c) rVh; ty—f"k çkf/kdj.k (d) bljks

(a) Hkkjr is (b) jstj is
(c) Qksu is (d) ØsM

(a) [kk| lfClMh
(b) ;wfuolZy csfld bude
(c) LokLF; cqfu;knh <kapk
(d) v‚uykbu xzkeh.k f'k{kk dk;ZØe
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(a) ukyank (b) iVuk
(c) if'peh paikj.k (d) cDlj

(a) Hkkjr (b) ukehfc;k
(c) phu (d) ;w,l,

(a) ckou cwVh dyk ls (b) f'k{kk ,oa lkfgR; ls
(c) iVuk dyke isafVax ls (d) lkekftd dk;Z ls

(DRDO)

(a) lrh'k jsìh (b) lqJh lqek o#?khl
(c) ds fot; jk?kou (d) çnhi dq#ydj

(a) uhjt pksiM+k (b) vj'kn unhe
(c) jkQsy uMky (d) fojkV dksgyh

(a) dsjy (b) egkjk"Vª
(c) mÙkj çns'k (d) fcgkj

(a) ;k=k (b) esdek;fVªi
(c) bfDlxks (d) bt ekbZ fVªi

(a) 2016 (b) 2022
(c) 2011 (d) 2018

(a) ckaXykns'k (b) Jhyadk
(c) ikfdLrku (d) E;kaekj

(a) fo'o cSad (b) varjkZ"Vªh; eqæk dks"k
(c) U;w MsoyiesaV cSad (d) ,f'k;kbZ fodkl cSad

(a) fleksu eSuqvy (b) lkjk lkstksLVª‚e
(c) fy;ksu ekjpan (d) jkukseh Ø‚efontkstks

123. Recently, Saharsh from Bihar secured 2nd position in the
International Science Olympiad. He hails from which district
of Bihar?
(a) Nalanda (b) Patna
(c) West Champaran (d) Buxar

124. In which country the world's only spotless giraffe was born
recently?
(a) India (b) Namibia
(c) China (d) USA

125. Kapildev Prasad who has been honored with the Padma Award
2023. He is related to-
(a) Bawan Booty arts
(b) Education and literature.
(c) Patna Kalam painting
(d) Social work

126. Who is the chairman of the nine-member committee setup to
review and redefine the role of the Defence Research and
Development Organization (DRDO)?
(a) Satheesh Reddy (b) Ms Suma Varughese
(c) K Vijay Raghavan (d) Pradeep Kurulkar

127. Who has been appointed as brand ambassador of Infosys?
(a) Neeraj Chopra (b) Arshad Nadeem
(c) Rafael Nadal (d) Virat Kohli

128. Which state has proposed to develop India's largest IT hub?
(a) Kerala (b) Maharashtra
(c) Uttar Pradesh (d) Bihar

129. Ministry of Tourism has joined hands with which travel portal
to showcase 600+ destinations that you must visit?
(a) Yatra (b) MakeMyTrip
(c) Ixigo (d) EaseMyTrip

130. Recently Bindeshwar Pathak passed away. Sulabh
International was awarded with Gandhi Peace Prize for
Contribution to Swachh Bharat Mission in which year?
(a) 2016 (b) 2022
(c) 2011 (d) 2018

131. With respect to the Indian neighborhood, recently seen in
the news "13th amendment" is related to which country?
(a) Bangladesh (b) Sri Lanka
(c) Pakistan (d) Myanmar

132. Recently, India Signed a $295 million agreement with which
Institute to upgrade 265 Km of State Highways in Bihar?
(a) World Bank
(b) International Monetary Fund
(c) New Development Bank
(d) Asian Development Bank

133. Who has broken Michael phelps record in Men's 400 Meter
Individual medley?
(a) Simone Manuel (b) Sarah Sjostrom
(c) Leon Marchand (d) Ranomi Kromwidjojo
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(a) Vh,u 'ks"ku (b) vthr MksHkky
(c) jktho dqekj (d) lkfu;k fetkZ

(a) Ýkal (b) ;w-,l-,-
(c) tkiku (d) baMksusf'k;k

"5F "

(a) diM+k (b) bysfDVªd okgu
(c) ok;q çnw"k.k (d) ;w,oh

(a) tEew&d'ehj (b) gfj;k.kk
(c) dukZVd (d) jktLFkku

INDUS X 

(a) ;w,l, (b) Ýkal
(c) btjkby (d) flaxkiqj

AirJaldi

(a) ekbØksl‚¶V (b) xwxy
(c) fjyk;al (d) ;kgw

I"

(a) ukxfjd mì;u (b) lSU; Mªksu
(c) fdyj jkscksV (d) iuMqfCc;ka

(a) eaxyokj lqcg 6 cts (b) eaxyokj lqcg 8 cts
(c) cqèkokj lqcg 4 cts (d) cqèkokj lqcg 8 cts

 

7 4 

9 

19 
9 3 

6 

? 
8 5 

12 

28 

(a) 27 (b) 21
(c) 28 (d) 17

(a) çR;sd _.kkRed la[;k dk oxZ èkukRed gksrk gSA
(b) ,d _.kkRed la[;k dk oxZewy ugÈ gksrk gSA
(c) &   ,d _.kkRed la[;k gS-
(d)  ,d VªkUlsaMSaVy la[;k gSA

134. "Through the Broken Glass: An Autobiography" is an

autobiography of -

(a) TN Seshan (b) Ajit Doval

(c) Rajiv Kumar (d) Sania Mirza

135. Recently, India and which country has decided to settle 6 of

their trade disputes outside the ambit of World Trade

Organization (WTO)?

(a) France (b) U.S.A.

(c) Japan (d) Indonesia

136. In the Indian context, "5F Vision" is related to-

(a) Textiles (b) Electric vehicle

(c) Air Pollution (d) UAVs

137. India's first hydrogen-powered train will run in which state/

UT?

(a) J&K                                  (b) Haryana

(c) Karnataka                        (d) Rajasthan

138. Recently, India and which other country has launched INDUS

X to foster collaboration between startups?

(a) USA (b) France

(c) Israel (d) Singapore

139. Which country has signed an MoU with AirJaldi to provide

high-speed internet connectivity to rural areas?

(a) Microsoft (b) Google

(c) Reliance (d) Yahoo

140. "Project 75 I" is associated with which of the following?

(a) Civil Aviation (b) Military drones

(c) Killer robots (d) Submarines

141. My clock is 3 minutes behind on Monday at 2 PM and 5

minutes ahead on wednesday at 2PM. When did it show the

right time?

(a) Tuesday at 6 am (b) Tuesday at 8 am

(c) Wednesday at 4 am (d) Wednesday at 8 am

142. Find the missing number.

 

7 4 

9 

19 
9 3 

6 

? 
8 5 

12 

28 

(a) 27 (b) 21
(c) 28 (d) 17

143. Which of the following statements is not true?
(a) The square of every negative number is positive.
(b) A negative number does not have a square root.

(c) &   is a negative number..

(d)   is  a transcendental number.
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(a) 27 (b) 36
(c) 43 (d) 480

(a) 1001 (b) 1007
(c) 1101 (d) 1108

 
7 5 2

, ,
10 8 3


 

(a)
2 5 7

, ,
3 8 10


 

(b)
5 7 2

, ,
8 10 3


 

(c)
7 5 2

, ,
10 8 3


  (d)

7 2 5
, ,

10 3 8


 

A, B C

A

B C

(a) 7 fnu (b) 8 fnu
(c) 9 fnu (d) 10 fnu

(a)
1

4 %
6 (b)

1
6 %

4

(c)
1

8 %
3 (d) 20%

%

(a) #- 18200 (b) # 17800
(c) #- 17200 (d) #- 16800
A

B

B

(a) 6 (b) 4
(c) 3 (d) 8

144. Four metal rods of lengths 78 cm, 104 cm, 117 cm and 169

cm are to be cut into parts of equal length. Each part must be
as long as possible, What is the maximum number of pieces
that can be cut?
(a) 27 (b) 36
(c) 43 (d) 480

145. The smallest 4-digit number exactly divisible by 7 is
(a)  1001 (b) 1007
(c) 1101 (d) 1108

146. The arrangement of rational numbers 
7 5 2

, ,
10 8 3


  in ascend-

ing order is

(a)
2 5 7

, ,
3 8 10


  (b)

5 7 2
, ,

8 10 3


 

(c)
7 5 2

, ,
10 8 3


  (d)

7 2 5
, ,

10 3 8


 

147. A, B and C can do a piece of work in 11 day, 20 days and 55
days respcectively, working alone. How soon can the work be
done if A is assisted by B and C on alternate days?

(a) 7 days (b) 8 days

(c) 9 days (d) 10 days

148. A shopkeeper purchased 70 kg of potatoes for Rs.  420 and
sold the whole lot at the rate of Rs. 6.50 per kg. What will be
his gain percent?

(a)
1

4 %
6 (b)

1
6 %

4

(c)
1

8 %
3 (d) 20%

149. A man buys a TV priced at Rs.16000. He pays Rs.4000 at
once and the rest after 15 months on which he is charged a
simple interest at the rate of 12% per year. The total amount
he pays for the TV is -

(a) Rs. 18200 (b) Rs.17800

(c) Rs. 17200 (d) Rs. 16800

150. A invested Rs. 76,000 in a business. After some months, B
joined him with Rs. 57,000. At the end year, the total profit
was divided between them in the ratio 2:1 After how many
months did B join?

(a) 6 (b) 4

(c) 3 (d) 8
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